

Access this article online

Quick Response Code:



Website:

https://eurasianj pulmonol.org

DOI:

10.14744/ejp.2026.69325

The impact of nutritional status and body mass index on lung function, functional capacity, and mortality in lung transplant candidates: A retrospective single-center study

Özge Yılmaz Tekiner¹, Aylin Seylam Küşümler², Mustafa Vayvada³

ORCID:

Özge Yılmaz Tekiner: 0000-0001-8171-0052

Aylin Seylam Küşümler: 0000-0003-4705-8042

Mustafa Vayvada: 0000-0003-3204-7498

Abstract:

BACKGROUND AND AIM: Lung transplantation is an important treatment option for patients with end-stage lung diseases, and outcomes may be influenced by nutritional status. This retrospective cohort study of 210 lung transplant candidates aimed to examine the associations of the Nutritional Risk Index (NRI), body mass index (BMI), and biochemical markers with functional capacity, lung function, BODE index, mortality, intensive care unit (ICU) duration, and survival.

METHODS: This retrospective cohort study included 210 lung transplant candidates who were treated at a tertiary-level specialized training and research hospital between 2016–2023. The study collected biochemical measurements, Pulmonary Function Test (PFT), Six-Minute Walk Test (6MWT), bone scans, and nutritional status data. It also assessed post-transplant ICU duration and albumin levels.

RESULTS: Severe malnutrition was prevalent (approximately 46%) across all patient groups, including those listed for transplantation, those who underwent transplantation, and those who died while awaiting. Severe malnutrition was significantly associated with lower values of BMI, FVC%, FEV₁, and FEV₁/FVC ($p < 0.01$). NRI was strongly correlated with these parameters and post-transplant survival ($r = 0.85$, $p < 0.001$). Unlike BMI and albumin when considered alone, NRI remained an independent predictor of survival in multivariable linear regression analysis ($p < 0.01$). Patients with hypoalbuminemia showed reduced 6MWT performance and lower NRI scores ($p < 0.05$). Post-transplant ICU stay was prolonged in patients with severe malnutrition; however, waiting list mortality was not significantly associated with NRI after adjustment.

CONCLUSIONS: The NRI is a simple and effective nutritional screening tool for lung transplant candidates and predicts lung function and survival better than BMI or albumin alone. Routine pre-transplant nutritional optimization guided by NRI may improve post-transplant outcomes.

Keywords: Lung transplantation, nutrition, nutritional risk index

How to cite this article: Yılmaz Tekiner Ö, Seylam Küşümler A, Vayvada M. The impact of nutritional status and body mass index on lung function, functional capacity, and mortality in lung transplant candidates: A retrospective single-center study. Eurasian J Pulmonol 2026;28:185-193.

This is an open access journal, and articles are distributed under the terms of the Creative Commons Attribution-NonCommercial-ShareAlike 4.0 License, which allows others to remix, tweak, and build upon the work non-commercially, as long as appropriate credit is given and the new creations are licensed under the identical terms.

For reprints contact: kare@karepb.com



¹Department of Nutrition and Dietetics, Koşuyolu High Specialisation Training and Research Hospital, İstanbul, Türkiye,
²Department of Nutrition and Dietetics, İstanbul Okan University, İstanbul, Türkiye,
³Department of Thoracic Surgery, Koşuyolu High Specialisation Training and Research Hospital, İstanbul, Türkiye

Address for correspondence:

Dr. Özge Yılmaz Tekiner,
Department of Nutrition and Dietetics, Koşuyolu High Specialisation Training and Research Hospital, İstanbul, Türkiye.
E-mail: ozgeyilmaz188@gmail.com

Received: 13-01-2026

Revised: 23-02-2026

Accepted: 30-03-2026

Published: 04-06-2026

Introduction

Lung transplantation is the definitive therapy for various end-stage lung diseases, but it is complicated by high morbidity and mortality.^[1] Although significant advances have been made in lung transplantation, the median survival remains approximately 6 years, notably lower than in recipients of other solid-organ transplants. Therefore, identifying risk factors associated with poor prognosis in lung transplantation may help mitigate transplant-related risks.^[2,3] Malnutrition exacerbates complications, prolongs hospital stays, and impairs survival, particularly in patients experiencing extended waiting times before transplantation.

Nutrition goals in the pre-transplant phase include optimizing the patient's nutritional status and addressing nutrition-related symptoms arising from organ failure. Relative contraindications to nutritional care include class I obesity (body mass index (BMI) 30–34.9 kg/m²), low BMI (<17 kg/m²), cachexia, malnutrition, uncontrolled diabetes, and osteoporosis. The nutritional needs of lung transplant candidates are diverse, requiring individualized recommendations tailored to best meet each patient's needs.^[4–6]

The impact of BMI in predicting lung transplant outcomes was first highlighted by Plöchl's report of increased intensive care unit mortality in lung transplant recipients with BMIs in the lowest quartile.^[7] Given risk factors such as advanced age and disease severity, lung transplant candidates are more vulnerable to malnutrition, which predisposes them to imbalances in energy, protein, and other essential nutrients. Malnutrition is a known major risk factor leading to adverse outcomes in chronic diseases and can negatively affect protein/energy balance, physical function, and clinical outcomes.^[8,9] Therefore, identifying potentially modifiable risk factors such as malnutrition may help offset some of the morbidity and mortality associated with lung transplantation.

No standardized malnutrition screening tool exists for lung transplant candidates. An ideal screening tool would enable the identification of patients at risk of malnutrition and facilitate the improvement of their nutritional status. The Nutritional Risk Index (NRI)—calculated from easy-to-obtain variables (serum albumin and weight relative to ideal body weight)—provides a practi-

cal, objective metric. The NRI has the potential to classify nutritional risk based on an individual's score. Chohan *et al.*^[1] proposed that the NRI could serve as an effective tool for identifying malnutrition in lung transplant candidates, potentially aiding in the prediction of both pre- and post-transplant outcomes.

NRI, given its simplicity and prior evidence of its predictive capability, was investigated in this study for its prognostic value, alongside BMI and biochemical markers, for functional and survival outcomes in lung transplant candidates.

Materials and Methods

The study population consisted of patients evaluated at a tertiary-level lung transplantation center between 2016 and 2023. The inclusion criteria were as follows. Patients aged 18–65 years with end-stage lung disease who were actively listed for lung transplantation, received oral nutrition, and had no severe psychiatric illness were included in the study. Patients who were removed from the waiting list, were pregnant or lactating, had severe psychiatric illness, received enteral nutrition via PEG or JEG, or had missing data were excluded.

Of 228 patients, 210 met the inclusion and exclusion criteria and were included in the retrospective cohort study. Ethics committee approval for this study was obtained from Ethics Committee of Koşuyolu High Specialisation Training and Research Hospital (Approval Number: 2023/04/671, Date: 28.02.2023).

Data collection

Study data were collected by the researcher from the hospital archive and the hospital information management system. After obtaining ethics committee approval, eligible patients were identified from the Lung Transplant Clinic database. 15 November 2023 was designated as the inclusion cut-off date, and patients on the waiting list at that time were followed for an additional 30 days. The study population consisted of patients registered between 08 December 2016 and 09 November 2023. A total of 210 patients entered the transplant list on these dates and met the inclusion and exclusion criteria. 73 patients died while waiting on the list, 86 patients were transplanted, and 51 patients remain on the current waiting list.

Table 1: Patients' age, waiting time for transplantation, and clinical values

Variables	Mean±SD	Median (25p-75p)
Waiting time (day)	264.01±285.61	160 (70–367)
Age (year)	46.42±13.4	50 (37–57)
BMI (kg/m ²)	23.03±4.22	23.5 (20–26)
6MWT (m)	275.39±141.06	297 (190–381)
FVC (%)	44.39±17.62	41.6 (33–52)
FEV ₁ (%)	36.83±19.51	32 (21–49.35)
FEV ₁ /FVC (%)	72.94±24.47	78 (54–90)
NRI	83.06±9.71	83.12 (76.1–90.78)
Post-transplant NRI	70.12±13.96	74.2 (64.38–78.2)
BODE index	5.97±1.93	6 (5–7)
Post-transplant ICU stay (days)	9.68±9.83	6 (3.5–13)
Post-transplant survival (day)	753.2±879.87	151.5 (18–1650)

SD: Standard deviation, BMI: Body mass index, 6MWT: Six-minute walk test, FVC: Forced vital capacity, FEV₁: Forced expiratory volume in one second, NRI: Nutritional risk index, BODE: Body mass index, airflow obstruction, dyspnea, and exercise, ICU: Intensive care unit.

For all patients, biochemical data, pulmonary function test (PFT) results, six-minute walk test (6MWT) data, bone mineral density (BMD) measurements and immunonutrition reporting status, height (cm), and weight (kg) on the date they entered the list were retrospectively reviewed. The duration of post-transplant intensive care unit hospitalisation, albumin values routinely checked at the first-month follow-up of patients who survived the first month after transplantation, and patients' L-glutamine reporting status were retrieved from the hospital information management system. It was ensured that L-glutamine supplementation had been reported at least 30 days prior. Glutamine supplementation between 15-30 g was reported for patients in whom immunonutrition was recommended, as recommended in the literature.^[10]

Nutritional assessment

Nutritional status was determined using the Nutritional Risk Index (NRI), calculated as:

$$\text{NRI} = (1.519 \times \text{serum albumin [g/L]}) + (41.7 \times \text{current weight / ideal body weight})$$

Patients were classified as severely malnourished (NRI < 82), moderately malnourished (NRI 82–92), mildly malnourished (NRI 92–98), or no risk (>98).^[11]

Statistical analysis

Statistical analyses were performed using IBM SPSS Statistics for Windows, version 25.0 (IBM Corp., Armonk, NY, USA). Continuous variables were presented as mean ± standard deviation or median (25th–75th percentile), and categorical variables as number and percentage. Normality was assessed using the Kolmogorov–Smirnov

test. Categorical variables were analyzed using the chi-square or Fisher's exact test, as appropriate. For continuous variables, one-way ANOVA with Tukey post-hoc test or non-parametric tests (Kruskal–Wallis and Mann–Whitney U tests) were applied, depending on the data distribution. Associations between continuous variables were evaluated using Spearman's rank correlation analysis. Variables included in regression analyses were determined a priori based on clinical evidence from previous studies demonstrating associations between nutritional status and clinical outcomes. Survival time was treated as a continuous variable, and correlation and linear regression analyses were performed only for exploratory and associative purposes. A p-value of <0.05 was considered statistically significant.

Results

A total of 210 patients listed as candidates for lung transplantation were included in the study. The cohort comprised 72.9% male patients, with a mean age of 46.4 ± 13.4 years. The mean waiting time on the transplant list was 264.0±285.6 days. Baseline anthropometric, nutritional, respiratory, and clinical characteristics—including body mass index (BMI), NRI, BODE index, pulmonary function parameters, six-minute walk test (6MWT) performance, and post-transplant outcomes—are summarized in Table 1.

Patients were categorized into three groups according to current status: transplanted, deceased while on the waiting list, and still awaiting transplantation. Comparative analyses of demographic, clinical, and laboratory characteristics are presented in Tables 2–5.

Table 2: Distribution of patients according to their current status

Variables	On the list (n=51)	Transplanted (n=86)	Ex-listed (n=73)	p
Gender, n (%)				0.578 [†]
Female	13 (25.5)	21 (24.4)	23 (31.5)	
Male	38 (74.5)	65 (75.6)	50 (68.5)	
Diagnosis, n (%)				0.001 [†]
Obstructive lung disease	6 (11.8)	25 (29.1)	7 (9.9)	
Interstitial lung disease	24 (47.1)	36 (41.9)	49 (69.0)	
Suppurative lung disease	20 (39.2)	23 (26.7)	11 (15.5)	
Vascular lung disease	1 (2.0)	2 (2.3)	1 (1.4)	
Diabetes, n (%)				0.121 [†]
Yes	9 (17.6)	9 (11.1)	4 (5.8)	
No	42 (82.4)	72 (88.9)	69 (94.2)	
Bone status, n (%)				0.655 [†]
Normal	16 (57.1)	37 (47.4)	34 (51.5)	
Osteopenia/Osteoporosis	12 (42.9)	41 (52.6)	32 (48.5)	
Use of enteral nutritional supplements, n (%)				<0.001 [†]
Yes	8 (28.6)	24 (30.8)	15 (22.7)	
No	20 (71.4)	54 (69.2)	51 (77.3)	
NRI category, n (%)				0.711 [‡]
Severe malnutrition	23 (46.0)	40 (47.1)	30 (41.7)	
Moderate malnutrition	18 (35.3)	17 (20.2)	33 (46.5)	
Mild malnutrition	10 (19.6)	28 (32.9)	10 (13.7)	
No risk of malnutrition	<5%	<5%	<5%	

†: Chi-square test; ‡: Fisher's exact test was applied. NRI: Nutritional risk index.

Table 3: Clinical and demographic characteristics of patients according to NRI status

Variables	Severe malnutrition <82	Moderate malnutrition 82–92	Mild malnutrition 92–98	No risk >98	p
Gender, n (%)					0.682 [†]
Female	23 (24.7)	15 (20.5)	11 (33.3)	1 (12.5)	
Male	40 (43.0)	28 (38.4)	13 (39.4)	4 (50.0)	
Current status, n (%)					0.014 [†]
On list	24 (25.8)	16 (21.9)	10 (30.3)	6 (75.0)	
Transplant/Ex, n (%)	69 (74.2)	57 (78.1)	23 (69.7)	2 (25.0)	
Diagnosis					–
Obstructive lung disease	15 (16.1)	9 (12.3)	3 (9.1)	1 (12.5)	
Interstitial lung disease	30 (32.3)	30 (41.1)	9 (27.3)	3 (37.5)	
Vascular lung disease	18 (19.4)	11 (15.3)	7 (21.2)	2 (25.0)	
Indications for retransplantation	34 (36.6)	47 (65.3)	20 (60.6)	6 (75.0)	
Diabetes, n (%)					–
No	35 (37.6)	13 (18.1)	6 (18.2)	0 (0.0)	
Yes	4 (4.3)	0 (0.0)	0 (0.0)	0 (0.0)	
Bone status, n (%)					0.570 [†]
Normal	83 (92.2)	62 (87.3)	26 (83.9)	7 (87.5)	
Osteopenia/Osteoporosis	7 (7.8)	9 (12.7)	5 (16.1)	1 (12.5)	
Enteral product reporting, n (%)					0.029 [†]
Reported	42 (53.8)	28 (45.9)	14 (56.0)	3 (37.5)	
Not reported	27 (34.6)	11 (18.0)	6 (24.0)	3 (37.5)	

†: Chi-square test; NRI: Nutritional risk index.

The proportion of male patients did not differ significantly among the three groups ($p>0.05$). However, primary diagnoses varied significantly ($p<0.05$). Suppurative lung dis-

ease was more prevalent among patients who remained on the waiting list, whereas interstitial lung disease was less frequent in this group than in the transplanted and

Table 4: Comparison of laboratory and clinical characteristics of patients according to NRI status

Variables	Severe malnutrition <82	Moderate malnutrition 82–92	Mild malnutrition 92–98	No risk >98	p
Age (years)	43.0 (27–55)	54.0 (44–59)	51.0 (48–56)	55.0 (45.5–57)	<0.001 [¥]
Body weight (kg)	54 (46–64)	71 (65–78)	76 (66–83)	73 (65–75.5)	<0.001 ^Ω
BMI (kg/m ²)	19.6 (17–22)	25.0 (23.1–26.2)	27.0 (25–29)	29.0 (26.6–30.5)	<0.001 [¥]
Albumin (g/l)	38 (34–41)	40 (38–43)	43 (40–45)	41 (38–44)	<0.001 [¥]
Prealbumin (µg/mL)	17 (15–21)	21 (18–24)	22 (16.5–27)	20.5 (18–25)	0.014 [¥]
Creatinine (mg/dL)	0.62 (0.47–0.71)	0.73 (0.63–0.82)	0.76 (0.56–0.86)	0.68 (0.56–0.94)	<0.001 [¥]
Hemoglobin (g/dL)	13.1 (11.2–14)	14.2 (12.6–15.3)	14.9 (13.4–15.9)	14.25 (11.9–15.1)	<0.001 [¥]
Total cholesterol (mg/dL)	150 (127–195)	200 (167–221)	199 (166–227.5)	226 (196.5–270.5)	<0.001 ^Ω
Triglyceride (mg/dL)	86.5 (70–127)	120.5 (88–151)	122 (89–164)	137 (102–161)	0.001 [¥]
FVC (%)	37 (28–45)	43 (34–54)	47 (41–54)	50.5 (40–55.5)	0.003 [¥]
FEV ₁ (L)	0.81 (0.64–1.12)	1.17 (0.72–1.73)	1.25 (0.83–1.54)	1.15 (0.84–1.35)	0.003 [¥]
FEV ₁ (%)	24 (19–40)	38 (23–53)	42 (30–54)	45.5 (36–57)	<0.001 [¥]
FEV ₁ /FVC (%)	67.1 (47–86.3)	83.0 (56.1–95.5)	76.6 (53–86.4)	82.8 (77.5–88.5)	0.028 [¥]
6MWT (m)	270 (138–380)	312.5 (220–402)	295 (190–345)	262.5 (139–295)	0.163 [¥]
Post-transplant ICU stay (days)	322.5 (16.5–1675.5)	228.5 (34.5–1505.5)	132 (13–1846)	28 (8.5–1185)	0.850 [¥]

¥: Kruskal-Wallis Test; Ω: One-way analysis of variance applied. NRI: Nutritional risk index, BMI: Body mass index, FVC: Forced vital capacity, FEV₁: Forced expiratory volume in one second, 6MWT: Six-minute walk test, ICU: Intensive care unit.

Table 5: The relationship between NRI, nutritional status, functional capacity, and lung capacity

Variables	All group (N=210)	Patients on the waiting list (N=50)	Transplant patients (N=85)	Patients who died while on the waiting list (N=72)
BMI (kg/m ²)	0.810** (<0.001)	0.850** (<0.001)	0.856** (<0.001)	0.730** (<0.001)
Total protein (g/dL)	0.119 (0.100)	-0.158 (0.307)	0.113 (0.316)	0.294* (0.015)
Albumin (g/dL)	0.490** (<0.001)	0.453** (0.001)	0.489** (<0.001)	0.542** (<0.001)
Transplant albumin (g/dL)	-0.070 (0.593)	NA	-0.070 (0.593)	NA
Prealbumin (µg/mL)	0.272** (0.003)	0.132 (0.365)	0.442* (0.021)	0.456** (0.003)
6MWT (m)	0.052 (0.463)	0.159 (0.270)	-0.048 (0.668)	0.097 (0.433)
FVC (%)	0.269** (<0.001)	0.255 (0.074)	0.464** (<0.001)	0.065 (0.603)
FEV ₁ (L)	0.246** (0.001)	0.188 (0.196)	0.322** (0.004)	0.222 (0.072)
FEV ₁ (%)	0.391** (<0.001)	0.309* (0.029)	0.446** (<0.001)	0.425** (<0.001)
FEV ₁ /FVC (%)	0.176* (0.014)	0.070 (0.631)	0.136 (0.225)	0.228 (0.068)
Post-transplant NRI	0.520** (<0.001)	NA	0.520** (<0.001)	NA
BODE index	-0.317** (<0.001)	-0.472** (0.001)	-0.308** (0.005)	-0.263* (0.039)
Post-transplant ICU stay (days)	0.217* (0.048)	NA	0.217* (0.048)	NA
Post-transplant survival (days)	-0.099 (0.365)	NA	-0.099 (0.365)	NA

*:p<0.05, **:p<0.01. Values are presented as Spearman correlation coefficient (r) and p value. NRI: Nutritional risk index, BMI: Body mass index, 6MWT: Six-minute walk test, FVC: Forced vital capacity, FEV₁: Forced expiratory volume in one second, NA: Not available due to insufficient sample size, ICU: Intensive care unit.

deceased groups. The prevalences of diabetes mellitus and osteoporosis were similar across groups. Use of enteral nutritional products was significantly less frequent in transplanted patients than in the other groups (p<0.001). No statistically significant differences were observed in the distribution of malnutrition risk. Severe malnutrition was common across all groups, and fewer than 5% of patients were classified as well nourished (Table 3).

BMI demonstrated weak correlations with several nutritional and respiratory parameters — including pre-

albumin, forced vital capacity percentage (FVC%), forced expiratory volume in one second (FEV₁, L), and the FEV₁/FVC ratio — and a moderate correlation with FEV₁ (%). A very strong positive correlation was observed between BMI and NRI, whereas BMI showed a weak inverse correlation with the BODE index. BMI showed a weak association with post-transplant intensive care unit (ICU) length of stay but was not significantly correlated with post-transplant survival duration, white blood cell count, or albumin levels. In contrast, post-transplant survival time showed a mod-

erate positive correlation with total cholesterol levels and a strong positive correlation with NRI (Table 4).

NRI-based analyses revealed that patients with severe malnutrition had significantly lower BMI and worse pulmonary function parameters than those with mild or no malnutrition. Albumin concentrations decreased progressively with increasing malnutrition severity. Patients with severe malnutrition also had significantly lower creatinine levels than those with moderate or mild malnutrition. However, no significant differences were observed among malnutrition severity groups with respect to waiting time, post-transplant ICU stay, functional capacity, biochemical parameters other than albumin and creatinine, or post-transplant survival duration (Table 4).

Across the entire cohort, NRI was strongly positively correlated with BMI ($r=0.81$, $p<0.001$) and moderately correlated with albumin levels and with post-transplant NRI values. NRI also demonstrated positive associations with pulmonary function parameters and an inverse association with the BODE index. Detailed subgroup correlation analyses are presented in Table 5.

Comparison of nutritional status based on laboratory parameters

When nutritional status was evaluated by albumin levels, no significant differences were observed between the normal-albumin and low-albumin groups for BMI or pulmonary function parameters. However, patients with hypoalbuminemia exhibited significantly lower 6MWT performance and NRI values ($p<0.05$).

In analyses stratified by cholesterol levels, patients with moderate or severe hypocholesterolemia had significantly lower BMI and poorer pulmonary function compared with those with normal cholesterol levels. NRI values were significantly higher among patients with normal cholesterol concentrations ($p<0.001$).

Patients with low hemoglobin levels had significantly lower BMI and NRI values, as well as reduced functional capacity and impaired pulmonary function, compared with patients with normal hemoglobin levels.

Mortality was not significantly associated with either NRI or BMI. However, the observed post-transplant survival duration was significantly associated with albumin and urea levels, while its association with white blood cell count did not reach statistical significance. Overall,

regression analysis indicated a modest but statistically significant relationship between selected biochemical parameters and observed survival time.

Discussion

In the present study, the general characteristics, anthropometric measurements, biochemical findings, PFT, 6MWT, and bone density measurements of lung transplant candidates were compared according to their current clinical condition. The relationships among patients' NRI, post-transplant NRI, BMI, biochemical findings, post-transplant survival, ICU stay, PFT and 6MWT were investigated. In our study, 34.8% of the 210 patients listed for lung transplantation died while on the list. Similarly, in a study conducted in Japan, 37.7% of the patients listed for transplant died while awaiting transplantation. The main reason for the long waiting times and high mortality rates among patients on the waiting list is insufficient organ donation.^[12] In this study, the average waiting time for transplantation was 264.01 days. In the United States, the waiting time for patients listed in 2019 was reported to be an average of 90 days^[12] This difference can be attributed to an insufficient number of donors in our country. According to the data published by the Turkish Organ Transplantation Foundation on December 31, 2023, the number of patients waiting for organ transplantation is 32,018, while the total number of deceased donors is only 305.^[13]

End-stage respiratory failure is associated with impaired bone health, and osteoporosis and osteopenia are frequently observed in lung transplant candidates, with estimated prevalences reaching 60% and 50%, respectively.^[14] In our study, based on bone mineral density results, osteoporosis was detected in 27.3% of the patients and osteopenia in 50.6%. Osteoporosis is one of the significant causes of morbidity following lung transplantation, and the fractures resulting from it can significantly affect patients' life expectancy.^[15]

The 6MWT is widely used to assess the functional status of lung transplant patients and is part of the evaluation criteria for transplantation. Most evidence in the literature has examined the relationship between 6MWT and waiting-list mortality. Studies have shown that the functional exercise capacity measured by 6MWT is inversely related to mortality on the waiting list in lung transplant candidates.^[16–18] In our study, the median 6MWT for those on the list was 368.00, while for those who died while on the list, it

was 257.50. Consistent with the literature, the 6MWT was lower in patients who died while on the list ($p < 0.001$).

In lung transplantation, the nutritional status of the recipient is considered an indicator of post-transplant outcomes. The BMI of the recipient is one of the most practical and commonly used measurements in medical centers worldwide.^[19] The impact of BMI on lung transplant outcomes has been an active area of research; however, due to conflicting evidence in the literature, its effect on lung recipient survival remains controversial.^[19-21] The first study to report the relationship between BMI and survival in transplant recipients using a large national database was published by Lederer and colleagues in 2009.^[4] In a study screening over 5,900 patients from the database, being obese or underweight was associated with an increased risk of post-transplant mortality. Schwebel *et al.*^[22] used BMI and creatinine height index to assess nutritional status and reported that 72% of the lung transplant patient cohort was undernourished, which led to prolonged ICU stays. In this study, the average BMI of transplant candidates at the time of listing was 23.03 kg/m². BMI was associated with post-transplant ICU stay, but not with post-transplant survival. An inverse relationship with the BODE index was identified. In our study, BMI was found to have a moderate correlation with FEV₁ and a weak correlation with FVC and FEV₁/FVC. Waiting times for patients whose BMI is outside the desired range provide an opportunity to improve their overall health. These findings suggest that the waiting period may constitute a critical window for optimizing patients' nutritional status, which may, in turn, have implications for clinical outcomes, including post-transplant intensive care unit (ICU) length of stay.

One of the screening tools used to identify malnutrition is the NRI. A retrospective cohort study that screened 13,392 lung transplant patients assessed the effect of NRI on post-transplant mortality. FEV₁, FVC, and BMI were lower in patients with a low NRI. The five-year mortality rate was higher in patients with severe malnutrition than in those who were not malnourished. It was also reported that patients with severe malnutrition had longer hospital stays post-transplant.^[23] Similarly, patients with severe malnutrition had lower BMIs than the other three groups. The medians of FVC%, FEV₁ (lt), and FEV₁/FVC were significantly lower in those with severe malnutrition than in those with mild malnutrition, and all these values correlated with NRI. In our

study, we observed a very strong correlation between post-transplant survival and NRI ($r = 0.850$; $p < 0.001$). This finding suggests that malnutrition may be associated with post-transplant survival duration and influence post-transplant clinical outcomes.

A study investigating the independent relationship between pre-transplant hypoalbuminemia and higher post-transplant mortality found that hypoalbuminemia at the time of listing was associated with early post-transplant mortality (< 1 year)^[24] Hypoalbuminemia may directly contribute to poor outcomes post-transplant by promoting oxidative damage or platelet aggregation^[25] In this study, albumin levels were recorded at the time of listing. The median albumin value among patients who died while on the list was 38.70 (35–42), whereas that among patients still on the list was 41.00 (38–44); this difference was significant ($p = 0.035$). This difference may be due to hypoalbuminemia predisposing patients to infections and lung inflammation, thereby increasing mortality risk.

In coronary artery disease (CAD), cholesterol levels have been shown to be inversely related to all-cause mortality, and a U-shaped relationship has been observed between inflammation, malnutrition, and CAD-related deaths.^[26,27] In CAD and dialysis patients, the idea that malnutrition leads to lower cholesterol levels and higher mortality rates is being explored.^[26,28] In our study, those with moderate-to-severe low cholesterol had significantly lower BMI, FVC%, and FEV₁% compared with those with normal cholesterol levels. In patients with normal cholesterol levels, NRI was significantly higher than in those with mild or moderate-to-severe low cholesterol. The study concluded that low cholesterol, resulting from malnutrition, negatively affected lung capacity and NRI.

Glutamine is considered a conditionally essential amino acid due to its role in stress response and immune regulation.^[28,29] In the present study, 42.7% of patients reported using glutamine as an enteral nutritional supplement; however, no statistically significant association was observed between glutamine use and malnutrition risk.

This study has several limitations that should be considered when interpreting the findings. Its retrospective and single-center design may limit the generalizability of the results. In addition, the use of registry data may not accurately capture patients' nutritional status at the time of transplantation, and the lack of detailed dietary intake

records limits a comprehensive assessment of nutritional habits. Furthermore, immunonutrition use could not be objectively confirmed. Nevertheless, the study also has important strengths. The use of the NRI allowed for an objective evaluation of malnutrition, and the inclusion of multiple biochemical parameters enhanced the robustness of the findings. Moreover, anthropometric measurements were performed in a standardized manner by a dietitian, increasing the reliability of the data.

Conclusion

In conclusion, malnutrition is highly prevalent among lung transplant candidates and is closely associated with pulmonary function, biochemical parameters, and post-transplant outcomes. The NRI appears to be a practical and informative tool for identifying nutritional risk beyond BMI alone. Routine nutritional assessment during the waiting period may provide an opportunity to optimize patient status and potentially improve transplant-related outcomes.

Ethics Committee Approval

The study was approved by the Koşuyolu High Specialisation Training and Research Hospital Ethics Committee (No: 2023/04/671, Date: 28/02/2023).

Informed Consent

Informed consent was waived due to the retrospective nature of the study.

Conflicts of Interest

The authors have no conflicts of interest to declare.

Funding

The authors declared that this study received no financial support.

Use of AI for Writing Assistance

Artificial intelligence tools were used solely for language editing and proofreading. All authors take full responsibility for the content of the manuscript.

Author Contributions

Concept – Ö.Y.T., A.S.K.; Design – Ö.Y.T., A.S.K.; Supervision – Ö.Y.T., M.V.; Resource – Ö.Y.T.; Materials – Ö.Y.T., M.V.; Data Collection and/or Processing – Ö.Y.T., A.S.K.; Analysis and/or Interpretation – Ö.Y.T.; Literature Review – Ö.Y.T., A.S.K.; Writing – Ö.Y.T.; Critical Review – A.S.K., M.V.

Peer-review

Externally peer-reviewed.

References

1. Chohan K, Park J, Dales S, Varughese R, Wickerson L, Singer LG, et al. Evaluation of Malnutrition Risk in Lung Transplant Candidates Using the Nutritional Risk Index. *Transplant Direct* 2020;6(7):e574. [\[CrossRef\]](#)
2. Ding Q, Chen W, Chen C, Zhu YM, Yang WW, Ding JR. Evaluation of nutritional status in lung transplant recipients and its correlation with post-transplant short-term prognosis: a retrospective study. *Ann Transl Med* 2022;10(14):793. [\[CrossRef\]](#)
3. Allen JG, Arnaoutakis GJ, Weiss ES, Merlo CA, Conte JV, Shah AS. The impact of recipient body mass index on survival after lung transplantation. *J Heart Lung Transplant* 2010;29(9):1026–33. [\[CrossRef\]](#)
4. Lederer DJ, Wilt JS, D'Ovidio F, Bacchetta MD, Shah L, Ravichandran S, et al. Obesity and underweight are associated with an increased risk of death after lung transplantation. *Am J Respir Crit Care Med* 2009;180(9):887–95. [\[CrossRef\]](#)
5. Jomphe V, Lands LC, Mailhot G. Nutritional Requirements of Lung Transplant Recipients: Challenges and Considerations. *Nutrients* 2018;10(6):790. [\[CrossRef\]](#)
6. Weill D, Benden C, Corris PA, Dark JH, Davis RD, Keshavjee S, et al. A consensus document for the selection of lung transplant candidates: 2014—an update from the Pulmonary Transplantation Council of the International Society for Heart and Lung Transplantation. *J Heart Lung Transplant* 2015;34(1):1–15. [\[CrossRef\]](#)
7. Plöchl W, Pezawas L, Artemiou O, Grimm M, Klepetko W, Hiesmayr M. Nutritional status, ICU duration and ICU mortality in lung transplant recipients. *Intensive Care Med* 1996;22(11):1179–85. [\[CrossRef\]](#)
8. Decramer ML, Chapman KR, Dahl R, Frith P, Devouassoux G, Fritscher C, et al.; INVIGORATE investigators. Once-daily indacaterol versus tiotropium for patients with severe chronic obstructive pulmonary disease (INVIGORATE): a randomised, blinded, parallel-group study. *Lancet Respir Med* 2013;1(7):524–33. [\[CrossRef\]](#)
9. Iorember FM. Malnutrition in Chronic Kidney Disease. *Front Pediatr* 2018;6:161. [\[CrossRef\]](#)
10. Singer P, Blaser AR, Berger MM, Alhazzani W, Calder PC, Casaer MP, et al. ESPEN guideline on clinical nutrition in the intensive care unit. *Clin Nutr* 2019;38(1):48–79. [\[CrossRef\]](#)
11. Buzby GP, Knox LS, Crosby LO, Eisenberg JM, Haakenson CM, McNeal GE, et al. Study protocol: a randomized clinical trial of total parenteral nutrition in malnourished surgical patients. *Am J Clin Nutr* 1988;47(2 Suppl):366–81. [\[CrossRef\]](#)
12. Valapour M, Lehr CJ, Skeans MA, Smith JM, Miller E, Goff R, et al. OPTN/SRTR 2019 Annual Data Report: Lung. *Am J Transplant* 2021;21 Suppl 2:441–520. [\[CrossRef\]](#)
13. Turkish Organ Transplant Foundation. Accessed Apr 20, 2026. <https://www.tonv.org.tr/tr/hakkimizda/>
14. Grassi G, Cairoli E, Gentile LMS, Chiodini I, Zampogna M, Ghielmetti A, et al. Bone Disease in Long-Term Lung Transplant Survivors. *Life (Basel)* 2023;13(4):928. [\[CrossRef\]](#)
15. Atagün Güney P, Irmak İ, Halis AN, Sarıbaş E. Bone Mineral Density in Lung Transplant Recipients: Experience of A Referral Lung Transplantation Center. *Turk J Int Med* 2023;5(3):156–62. [\[CrossRef\]](#)
16. Bourgeois N, Shallwani SM, Al-Huda FS, Mathur S, Poirier C, Janaudis-Ferreira T. Relationship of Exercise Capacity, Physical Function, and Frailty Measures With Clinical Outcomes and Healthcare Utilization in Lung Transplantation: A Scoping Review. *Transplant Direct* 2022;8(11):e1385. [\[CrossRef\]](#)

17. Martinu T, Babyak MA, O'Connell CF, Carney RM, Trulock EP, Davis RD, et al.; INSPIRE Investigators. Baseline 6-min walk distance predicts survival in lung transplant candidates. *Am J Transplant* 2008;8(7):1498–505. [\[CrossRef\]](#)
18. Zhu MZL, Levvey BJ, McGiffin DC, Snell GI. An Intention-to-treat View of Lung Transplantation for Interstitial Lung Disease: Successful Strategies to Minimize Waiting List and Posttransplant Mortality. *Transplantation* 2022;106(1):188–99. [\[CrossRef\]](#)
19. Chaikriangkrai K, Jhun HY, Graviss EA, Jyothula S. Overweight-mortality paradox and impact of six-minute walk distance in lung transplantation. *Ann Thorac Med* 2015;10(3):169–75. [\[CrossRef\]](#)
20. Culver DA, Mazzone PJ, Khandwala F, Blazey HC, Decamp MM, Chapman JT; CCF Lung Transplant Group. Discordant utility of ideal body weight and body mass index as predictors of mortality in lung transplant recipients. *J Heart Lung Transplant* 2005;24(2):137–44. [\[CrossRef\]](#)
21. Kanasky WF Jr, Anton SD, Rodrigue JR, Perri MG, Szwed T, Baz MA. Impact of body weight on long-term survival after lung transplantation. *Chest* 2002;121(2):401–6. [\[CrossRef\]](#)
22. Schwebel C, Pin I, Barnoud D, Devouassoux G, Brichon PY, Chafanjon P, et al. Prevalence and consequences of nutritional depletion in lung transplant candidates. *Eur Respir J* 2000;16(6):1050–5. [\[CrossRef\]](#)
23. Bigelow B, Toci G, Etchill E, Krishnan A, Merlo C, Bush E. Nutritional Risk Index: A Predictive Metric for Mortality After Lung Transplant. *Ann Thorac Surg* 2021;112(1):214–20. [\[CrossRef\]](#)
24. Baldwin MR, Arcasoy SM, Shah A, Schulze PC, Sze J, Sonett JR, et al. Hypoalbuminemia and early mortality after lung transplantation: a cohort study. *Am J Transplant* 2012;12(5):1256–67. [\[CrossRef\]](#)
25. Don BR, Kaysen G. Serum albumin: relationship to inflammation and nutrition. *Semin Dial* 2004;17(6):432–7. [\[CrossRef\]](#)
26. Liu Y, Coresh J, Eustace JA, Longenecker JC, Jaar B, Fink NE, et al. Association between cholesterol level and mortality in dialysis patients: role of inflammation and malnutrition. *JAMA* 2004;291(4):451–9. [\[CrossRef\]](#)
27. Oishi H, Okada Y, Sato M, Nakajima J, Nakajima D, Shiraishi T, et al. Prognostic factors for lung transplant recipients focusing on age and gender: the Japanese lung transplantation report 2022. *Surg Today* 2023;53(10):1188–98. [\[CrossRef\]](#)
28. Calañas-Contiente A, Gutiérrez-Botella J, García-Currás J, Cobos MJ, Vaquero JM, Herrera A, et al. Global Leadership Initiative on Malnutrition-Diagnosed Malnutrition in Lung Transplant Candidates. *Nutrients* 2024;16(3):376. [\[CrossRef\]](#)
29. Wu JM, Ho TW, Lai IR, Chen CN, Lin MT. Parenteral glutamine supplementation improves serum albumin values in surgical cancer patients. *Clin Nutr* 2021;40(2):645–50. [\[CrossRef\]](#)